= AH O
Nl = 0 A & & Al A
2013 =O0AF UBHS|H REAIA D ~ 25HAY D)
SA: 25 A
M SEMARE
CHol: 2314 B4 ECRE
_ _ HE T
2N - FHH..2A(SH) - HIEAMY - BHAS (] AFoH '@,‘;OH Hl =2
S51aH21 I 8,287,800 6,590,400 1,697,400
2 800,000
J| 1,782,000
[ 5,705,800
SEAMARE 1,783,000 1,748,000 35,000
J| 32,000
[ 1,751,000
25142 4 1,783,000 1,748,000 35,000
J| 32,000
[ 1,751,000
DI 2O ARS A 253,000 198,000 55,000
Il 32,000
= 221,000
201 Y2 Y| 108,000 10,000 98,000
Il 32,000
= 76,000
01 AL 22/ H 23,600 10,000 13,600
ORBIEZDOH AAY 2 1,800
Il 900
[ 900
ORBIEEZQN = J= 5,000
Il 2,500
[ 2,500
OZUZEUAE MASR &g 1,800
O2VENE == M= 5,000
OSLNSSAE AF L ALE X 10,000
03 AL Y 84,400 0 84,400
ON153 BRIGZZQH Wzl 57,200
Il 28,600
[ 28,600
ONI433 ELZHENE M 27,200
207 o I | 25,000 0 25,000
01 ¢l =y 25,000 0 25,000
OEYU 2314 J|BHE A} 25,000
306 2012 30,000 0 30,000
01 =012 30,000 0 30,000
OLLSHAE 22 2 01HE XY 30,000
307 B12+0| & 60,000 158,000 98,000
02 QI AMEE 60,000 60,000 0
O2ZEMA LA TAY X 20,000
OZ0AH HAMAITIHE X 30,000
O20LH UHEAITHE X 10,000
308 XtXISHHIS 0| & 30,000 30,000 0




SA: 25l
M 25 MFE
el 234 4 EEREED
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
01 XX SHZASES 30,000 30,000 0
OXSZHE L AFSSNE MM Nl
e 30,000
Ss2Ex Ny U |4 1,440,000 1,510,000 A70,000
306 2012 1,440,000 1,510,000 A70,000
01 2013 1,440,000 1,510,000 A70,000
OSsIYRER 2% 700,000
OZEYSSNALHIANE 2SS 2 30,000
O%ARsIoE 2E= Y 250,000
OXSERY JlY 2526 = 230,000
ONASEHBE LY MEIH F& 230,000
IS ®=2 OI0HE0] eAX =5 RX 90,000 0 90,000
308 XX EHH S 01 & 90,000 0 90,000
01 XIS HZABES 90,000 0 90,000
OIS M= 0I0IE0 eATX0E SX 90,000
NASHSH Il Es 6,446,600 4,780,600 1,666,000
3 800,000
g 1,750,000
= 3,896,600
Nei2s =/ SHX 6,446,600 4,780,600 1,666,000
3 800,000
p] 1,750,000
= 3,896,600
SoHBBERA 2,487,000 2,520,000 33,000
g 1,680,000
= 807,000
308 XXI €I S 0 & 2,487,000 2,520,000 33,000
g 1,680,000
= 807,000
01 XIS HIABES 2,487,000 2,520,000 33,000
OS2ABSH 2,487,000
p 1,680,000
= 807,000
NdespRIRIY 2% X 140,000 91,000 49,000
p 70,000
= 70,000
308 XXI €I S 01 & 140,000 91,000 49,000
p 70,000
= 70,000
01 KRS B A2 XS 140,000 91,000 49,000
OsaesipgT2 1Y 140,000
p 70,000
= 70,000




2A: 2atared
M NEEMsd Ity
@2l NE23=HM SHEX3 (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
NESERS ==L 357,000 357,000 0
201 et 27,000 27,000 0
01 At 22IH 27,000 27,000 0
O=NsSEds 29+ 8,000
OFNUE Y SHYE =Y 19,000
308 RHXISHHIS Ol & 330,000 330,000 0
01 IXNHHBHEES 330,000 330,000 0
OXNGSEZSEHM K& 330,000
2REH MHAX 812,600 812,600 0
= 800,000
[ 12,600
203 YR FXH 12,600 12,600 0
03 A=A H 2 Z=EY| 12,600 12,600 0
Ot RF=A 2,850
O HAI AR A 9,750
308 KX SHHSO0IA 800,000 800,000 0
o 800,000
01 IXNHHBAEES 800,000 800,000 0
O013HEZ LS EM X 800,000
o 800,000
SRIESHH X 2,000,000 1,000,000 1,000,000
306 2012 2,000,000 1,000,000 1,000,000
01 &0i3 2,000,000 1,000,000 1,000,000
OHMI592] “H=2=t M X 2,000,000
SHOIA JGAY =3 650,000 0 650,000
201 LBt 200,000 0 200,000
03 S At2EH| 200,000 0 200,000
OUEEs WHE(MEY S3UEN) 200,000
306 £ 3 150,000 0 150,000
01 5013 150,000 0 150,000
OWE 2013 PASZH 0l 150,000
308 AHXISHHIS Ol & 300,000 0 300,000
01 IXSHHBAEES 300,000 0 300,000
ouzZzs UHA NAMESY 2stUHEH) 300,000
HHSAHH| (234 D) 58,200 61,800 3,600
Jl=2A 58,200 61,800 3,600
Jl=Z| 58,200 61,800 3,600
201 L2 27,000 28,800 A 1,800
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